
Unt HrfrT triftf,r{'frHq , frfltg, ffidtq
STATE INSTITUTE OF SCIENCE EDUCATION, PUNJAB, CHANDIGARH

(s.c.E.R.T.)
s.c.o. 66{7, sEcToR l7-A, CHANDIGARH

&fr Ears Es {fulrt'zotz
National Talent Searth Examinetion 2012

State Level Test-2012
m{Er (Class X)

MENTALABILITY AND SCHOLASTIC APTITT'DE TEST
X'dfq A'dB' r,f3' trfgt{' d trdrs' d pruaP

Time : 3 hours Max. Marks : 180 gyr; 3 ut? {rrita:rao

r$

I nstructions for candidates:-

l. This exam is in two Parts, each part has 90

questions.

2. Pafl-l is related to Mental Ability Test.

3. Part-ll relates to Scholastic Aptitude Test. Itconsists

ofeight subjects, details of which arc given below:-

$ffisttre'Fsi:
1. fird \frfor,{. E g'ar. ffs i r rd n-dl f+s eo {r5'

ir6l

z. ufos. s.sr n rfua d-srst FE frtqs tr

r. ere'stl ffi S 6-ors a's fitrcs tt fex fts
ryaH ur, lirdrer +d<r o.6Fg't-

il ifsqfiEfuPrw iil ar'fwfi<torara

iiD tt€ f<fuPlrt' iv) gd-r

,1l

i) Physics;

iii) Biology;

v) Historyl

ii) Chemistry;

iv) Geography

vi) Civics;
v) tskdrr

vii) arb:t

vi) drdlttrd FtF=kt

viii) tkI€t E E=liI

vii) Marhematics viii) Economics

4. Each question carries one mark. All questions are

compulsory.

5. You have been provided with a answer sheet (OMR)

for this question paper.Darken the correct option

of each question in the answer sheet (OMR) with

black/blue ink.

6. Rough work may be done on the provided blank

space.

7. There is no negative marking in this question paper'

4. ud EE yra. er F*,iw i r rt rga Eefi ua t

s sE6 fE qrr irro 5* €tJd ffe ES arfr il
g-Jd H-c tE *n,rro ffu rgs e E-S qTd A
odz ffifrardrogaigox€t

6. ii-s. arr fH dr$ vrd st 3 {ilrr t I

z . fux {Fr irrd f+s trena ttd'kE) x'dfrrdr a-s
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(NTSE-X),2012
Part-l (s(It-l)

Mental Ability Test-2012/lF?5ffcfrils qrr rkc-zorz. Questions:l to 90

Directions (l-6) There is a nunrber series
following a pottern. One place is l,eft bhnk. Find
out the correct lnswer from the options.

Q. r 840. 168,42. t4,7 ..............

ffiE (t{F6' l-6) t6 fui qmtt fts riqi'd F*
tfst arel a, rH. f€s frtq il ud sr se6 td fdg
a€ s.a kasu. fCt r$Egu unr

q.1 840, r68.42, r4.7 ..............
(r) s (21 7 (3) e (4) ll

v.2 321,322, 321,32s,317, 326,299.....

(l) 3ls (2) 2ts (3)lls (4) los

{.3 0.s, 1.s,4.s, 13.s, .....

(r) 4s.5 (2) 39.s (3)30.s (4) 40.s

(r) 5 (2) 7 (3) e

Q.2 321, 322, 32t, 325, 3'17, 326,299.....

(r) 3rs (2) 2ts (3)lls

Q.3 0.s, r.s, 4.s, r 3.5, .....

(l) 4s.s (2) 3e.s (3)30.5

(4) il

(4) r0s

(4) 40.s

23
04 E.t

(t) o
(3) A

6

E(l)
6

x6(l)

Q.5 r,1,2,4,4,9,8, 16, 16,2s,.....,36

(l) 2s (2) 24 (3)32 (4) 36

Q.6 2,s,10,17,26, ......., 50

(r) 40 (2) 3s (3)36 (4) 37

Q.7 Class A has students twice that of class B. After

. adding 20 students to class A snd 30 students to

. class B the totol number of students in both the

classes is 140. What is the number of students in

class A in the beginning?

(r) 30 (2\

(3) 80 (4)

Q.E tf the first four letters of a term

'HIPPNOWADISAM' are written in reverse

order, the ncxt five letters are nnittcn without

churging their order and thcn, the

remaining letters are again writon in rcverse order,

then which letter is in the middle of the word?

(2) w
(4) I

60

160

A<__i- _:_ / \s' 25 ''" "',,

667
(2) * (3) l2s @ 2s

667

\s 1,1,2,4,4,9,E, 16, 16, 25,.....,36

(t) 25 (2) 24 (3)32 (4) 36

\.6 2,5,70,17,26, ......., s0
(r) 40 (2) 3s (3)36 (4) 37

q.7 6a6fE A e fiE',F€D'{rdfir{i d ffi astr s dtB
gard trzo t#srtrdm Ersrr A fts,,fri so

fuferyrdfr ilsrr B f{s i=s gufrs €€r {6rEi'
t€sf<fuars*rx'Sg6ffi 140 tl EB.E A

Fet ftftidrd),{t fr ffi ry t€e fdd t i
(l) 30 (2) o
(3) 80 (4) 160

r{.8 iild 'HIPPNoWADISAM' EqE g ufot srd
,hrdr 6 grc arfr ifr fisfi{rr F€ ,l€ rfdrt
tifi r,hfdt O fu{i Td-Sq qefu}rr fisfirhr t€
,,fg E d Ufre rrhfdt' g fre grSe grc Fa n
fiEh{t{'t€ 3r ktrg'Dhrd fC} a€ rqe' e'
fqsq.Or dtrs i*ar1
(l) o (2) w
(3) A (4) |



Q.9 ln the following letter series how many times do

'PQR' occur in such away that Q is in the middle

of P and R.

QMPNPQRROPQNOPPQRPMQROPQRPPRRPQRP
(l) s (2)6 (3) 4 (4) 3

Q.l0 How many 5's are there in the following sequence

which are immediately followed by 3 but not
immediately preceded by 7 ?

89532538556E733 577 5365335i3853

q.e F t&i Dhrdld rS fdv ftid s'-c 'pen'
l€e' A f{ fuE fts e,P },r} R t tgce.d A}t
QMPNPQRROPQNOPPQRPMQROPQRPPRRPQRP

(f) s (2)6 (3) 4 (4) 3

{.ro fu}rd s-S f€s,r{ s fdd s'.<t J Efos i fdrF

f€'gntd s g srryerrid. 3 ryrfrg. Ae,rdntd Z

ufip Et'rrflQlgr iet
E953253 t5 56E733 57 7 53 6533 57 3E53

(r) kd Q) €
(3) fii6, (4) ntit

{.r1 tsus'EEe, xudE t e{r{EiEd *i rs'd 3'
',Ftrer tt

(I) BALLIUM
(3) BALLERINA

q. 1 2 kiE r gqg, gqeeE t qH )rfdErd,rrutd J rreEr il
(l) t augh (2) Latch
(3) Laurels (4) l,atitude

{.13 -+ ire et rrgge +s,
<- e' Hrrgu u6'rQ,

t er lctgs ltiar,

J grg6sora),f3
o er)Grgssirrat€

3t t6 firfr{,,{'t€ frrqs'f€Eu*{tl
(l) 2l, s<-6-+2t6
(2) 5 s7 <-312t4
(3) 3J6 f2-+3<-6$
@) 7<-a316!$a

{.r4 i L e'}l.ggs x, M Er }GntE +, P eT }GI6rI +!
ari Q srsse-i€3f t op znu Ae 5M 2L 3=?.

(r) t0 (2) e (3) 12 (4) ll
v.156rA+ gHEgII x,- glt=Igq+,+Er}l! I'rI-',f]

x erH=rsq - ile3tb'fd.ih{t'E}M.fisff
ktr*rofrildd#di?

(t) 7+8-2-5x1245 (2)366+l0x5d5
(3) 66x+9|t t=88 (4) t 62+10_2x12=2t8

{.16 frd f+6 * ryi *, iw z tt} 4 d r,rqr f+u
|,re6r se* d" fEit H"+ si +6 ffir,{i.H
ffimfiaecat*tl

(t) 2 + 4'+ 3:3
(3) 4+2+3=4

4+2+6:1.5
2+4+6=E

( l) One
(3) Three

(2) Two
(4) Four

Q.l I Which word will appear third in dictionary?
(I) BALLIUM (2) BALLISTICS
(3) BALLERINA (4) BALLISTITE

Q. l2 Which word will appear Last in the dictionary?
(l) taugh (2) Larch
(3) Laurels (4) Latitude

Q.l3 lf -, stands for addition,
(- stands for subtraction,

f stands for division,

J stands for multiplication,

3 stands for cqual to, then which ofthe
following altematives is correct.

(t) 2!s+-6-+2t6
(2) s -+7 <-3 J 2ta
(3) 3J6 f 2-+3e605
(a) 7ga3f 6J lca

Q.l4lf L denotes x, M denotes :, P denotes+, Q de-

notcs -, then l6p 24M EQ 6M 2L 3=?
(r) r0 (2) e (3) l2 (4) lt

Q.l 5 lf+ means x, - means +, + means-, and x mean +,

then which one ofthe following equations is cor-
rect?

(l) 7+g-2+5x1245 (2) 36-6+t 0x5d5
(3) 66x49fll=88 (4) I 62+ I 0-2x t2=2t}

Q.l6lfthe given inter changes namely: signs + sn6 +

and numbers 2 and 4 arc made in signs and numbers,
which one of the following equations would be

correct?
(l) 2+4+3:3
(3\ 4:2+3=4

4+2+6=1.5
2+4+6=g

(2) BALLISTICS
(4) BALLTSTTTE

(2)

(4)(2)
(4)



Directions (Q.17-lE)ln the following question there

are equations without signs between each two numbers.

Find out from the given four options which one would
render the equation to the correct.

Q.r7 22L2 L446A13

ffis tqns 1z-r8) uil fqi qrr. ffr Erfr{d;
E e Enlu.fl n ffi i€s f6 r-dr ud, fitrs dIE s.d
EqE Jr H urbrd fe6 e' frr*' x1p Ad qlr€.d
F-dJr rr+drr fer a'r fu *{ nn-{d€ E€ HCr
{.17 22L2 A4A6A13

(l) -,+,+,=
(3) +, -, +, =

(2) +, -, +, =
(4) *,+,-,:

r{.18 t0 A 19 A2t L3 A 22
(l) -,+,+,= (2) t,-,+,=
(3) +,-,+,= (4) +,+,-,=

firr* tr1rr 1e-2r) t6rr [f* ilEt fr.e-d.fr 6
qr6t e gsa i-€ uf u{t ffi ia srr fds "rise and

shine" 6'rrs'ffiru.74r |1, 'n1." run rise" 5'7le'
firfitrr{r H'€r t ,rri "sun and moon" 6 osz fufoar
ce'tt
{.re 'Sun'et At * t+orr ?

(l) s (2) 6 (3) 7 (4) |

{.2o td fisi{r{i'fiafr frue'kdlrU 'moon rise' I
EE€T A?

(r) 7,r (2) 1,3 (3) 6,7 (4) 9,6

q.2t 'r'fuFosdE -qst?(l) nice (2)sun (3) rise (4) moon

y.z2 *<a gars g udr fuo'fi€, uc 6 rfro ffiJ'
n€, lffi F ud fuJ'fi'4, ud tr uE fa-u'

F +, rf3 o-E S fg. fuat ile sf )f6tt{t idt
+d€1rfl'. u6.l
(l) rrcl (2)Ifro (3) u€r (4) *F

y.z3 kd rrfil€-d f+s fE{ UaE, ffi trJfr, ild-ltJd
r,r3 @' 4,,{t uJfirrf O?5l Oad FA t t{Ftr='a

Hs f3d fJd lrS fg{ fr t utd€'d f€r ds YdE

*r+dffius'dl
(2) t2
(4) t7

(l) -,+,+,=
(3) :, -, +, =

(2) a, -,+, :
(4) *, +, -, =

Q.I8 t0 A 19 L21 L3 422
(l) -, +, +, = (2) *,-,+,:
(3) :. -, +,: (4) *, +, -,:

Directions (Q. l9-21 ) study the following
information to answer the given questions. In a certain

code language. "rise and shine" is written by '935', "nice

sun rise" is written as "719" and "sun and moon" is writ-
ten as '657'.
Q.l9 What is the code for'Sun'?

(l) s (2) 6 (3') 7 (4) |

Q.20 Which of the following represents 'moon rise'?

(r) 7,r (2) 1,3 (3) 6,7 (4) e,6

Q.2l What does ' I ' stands for?
(l) nice (2) sun (3) rise (4) moon

Q.22 lftree is called green,

green is called rain, rain is called water, water is

called air, air is called blue. Where dothe fish swim?

(l) water (2) rain (3) air (4) blue

Q.23 A family has a man, his wife, their 4 sons and their

- wives. The family ofevery son also has 3 sons and

one daughter. Find out the total number of male

- members.
(t) I

(3) 4

Directions (Q24-25) read the following information

carefirlly and answer the questions which follows ..

Anupma started from point A, walked 7 m towards

the west. Took a left turn, walked 2m and reached point

C. She then took a right turn and walked 4m to reach

poinr D. She then took a right tum, walked 2m before

takinga final right tum and walking 3m before stopping at

point B.

Q.24 How far and towards which direction is point A from

point B.

(l) 6m towards wesr (2) tm towards east

(l) lOm towards east (4) lOm towards west

(l) I
(3) 4

ftroil tura zq-zsr ira fiI*afr sa'oi6rq',trs
6.F u=,,r- f€3 aE qrr ? 9ss ii6r

,r6im e eg e a 3rdr ry d.lsrl{3 7 }fra te}r €5
ar6, gr e wA rrs arfr ar3 i rfiea Yra9ufs Er c 3
u-i-s dlfirffi kd fri u'i fJ dfa,{'}ri 4 }fred 3T5
Alrs ee o a uro alsr Fo$u r#l u'rUg at6 T S z

i-- ga rrg,ng" *i uqH arg g Ht d d* ,r{siilg
e-Bfrg3qffifuei_daa*r
!.24 E A ft| B 3 f,id gAD€EF ttr'f+st?

(1) 6tiTdrfg){+5 (2) sxtedgds+g
( 3) 10 !fr{d lrds {u (l) ro ff.d lfdx {5

(2) t2
(4) t7



Q.25 ltAnupma walks 2m towards South from point A
and reaches point E. Which of the following points
(including E) would fall in a straight line?

{.2s +rougun fue?zrfraoilrefE {E
grdd il,,r3 fil1l e 3 rr_eed il t6 firfrr,,ri
H ftra* fr rr rrtsl fifd trm ilu.'l+
iEA?
(l) A,B (2) A,D
(3) B,c (4) c,D

y.26 ffi is s'E fts REVERSE O firfror rre.
t srwpsrr'9i i-r i+s FoRwARD Afir+
rultt,,fr grqE[r 7

(I) ENQVQZC (2)GPSVBSE
(3) GPSXBSF (4)GPSXBSE

l{27 ftri is s'E HE .ouTER' er fu.MSRCP'
t ar3 sncx s +s .oRGAI' tr Qi g'E
f*s ,wHol-e' e'*a ait i-*cr I
(I) YJQNG (2) UFMCJ
(3) UFJMC (4) UFMJC

q.za t*a SEASoNAL 6; essnNole ffiorr sre,r
il + g* Ao t+ sEnARATE O H ffi{,rt'
HT€FdTr ?

(t) SEAPARET(2) ESPARATE
(3)ESPAARTE(4) ESAPARET

q2e ffi iogrf+ RAcnAVnN gfufvrmert
cnRvnuNn. Qie'tr'r+ MATI#IvAN f ffi
Eqgrl'6fisfo)lt'Hreon
(r) TAMVAFTNA (2) TAMVAHAN
(3) TAMHAV|{A (4) MATVAHNA

{.30 Hilss'rF f+s BLooD d 24r13, BRUST 
.

$ zoon fisfur4' srs" 3., sr ROBUST e ia .fir
(r) 62078r Q\ 6t2078
(3) 678102 (4) 610732

r{.31 ffi is sq' fdq BRoTHER er As
24567a4, stsTER et *g irpoaq si RoB-
BERS e'Asili*o'z
(t) t&2s22 (2) 4s626U
Q) n4s7% (4) 4s22E4s

{.32 H ts g.E f<g TEA 6 2os1 fufior. a,e,
At g'. coFFEE=?
(t) 36ss6 (2) 3t66ss
(3) 3tss66 (4) 3ls66ss

(I) A,B
(3) B.C

(2) A,D
(4) c,D

Q.26 In a certain code REVERSE is written as
SFWFSTF. How is FORWARD written in that
code?

(r) ENQVQZC (2)
(3) GPSXBSF (4)

GPSVBSE

GPSXBSE

Q.27 ln a certain code language .OUTER' is coded as
'MSRCP' and STICK is coded as .ORGAI'. ln
the same code ,WHOLE' will be coded as ......... ?
(t) YJQNG (2) UFMCJ
(3) UFJMC (4) UFMJC

Q.28 lf SEASONAL is written as ESSANOLA, how can
SEPARATE be written in that code?
(I) SEAPARET (2) ESPARATE
(3) ESPAARTE (4) ESAPARET

Q.29 ln certain code language RAGHAVAN is written
as GARVAIINA. ln rhat code which word will be
wrinen as MATHAVAN?
(I) TAMVAFINA (2) TAMVAHAN
(3) TAMHAVNA (4) MATVAFINA

Q.30 lf in a certain code language BLOOD is
written as 24 I I 3, BRUST is written as 2607g, then
the code of ROBUST is
(t) 62078t (2) 612078
(3) 678102 (4) 610732

Q.3 I In a certain code language BROTI-IER is coded as
2456784, SISTER is coded as 9t 9684, then what is
the code for ROBBERS?
(tt tE2s22

Q) n4s7u
(2) 4s626U
(4) 4s228/,9

Q.32 ln certain code language if TEA is written as 205 I ,
Then COFFEE=?
(r) 365s66

(3) 3lss66
(2)

(4)
3 r 6655

3156555



Dimtiono(Q.33a0)whatwillcomeinplace ofques- ffitqrr 33-40) t6fis+{Eif+c{ntf&t
tion mrrk(?) in the following questione. ( ? ) * ildf gel

4
(4) e

4
(4) 05

4
(4) 24

4
(3) 6

4
(3) 08

tr,it
rdr;r

llll

Q3'3444
(r) 3 (2\

or- *E
(r) 13 (2)

Q35 IEE
Eei

(t) 22 (2)

(4) e

4
(4) 06

4
(4) 24

4
r0 (3) 08

4

(3) 6

(3\ 26

(3) 64 (4) r00

(4) rs

6t
q33 *E

(l) 3 (2) 4

[-61
r{.34 trLh

(l) 13 (2) l0

u.3s , [*l' l6lEl
Eq

Q.36

20 (2) 2s (3) l0

ooo
@o@oo

@o@@ooo
ooooo

@oo

(t\ n Q) 20 (3) 26

{.36

(l) 4 (2)

r{.37

(r) 20 (2) 2s (3) l0

q.38 OO@
@o@oo

oooo@@o
o@ooo

ooo
(r) s (2) 6 (3) I

(4) 100
(t) 4

Q.3?

. (t)

Q.3r

(4) r5

""€D@+ @@+
(4\ 4t

(f) s (2\ 6 (3) 8 (4) 4l

q.3e

(r) 30 (2', 33 (3) 35 (4) 40

5

(r) 30 (z) 33 (3) 3s (4) 40

(3) 64
(2)



B 4 E 9 L
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3 C 6 H 13 ?

Q.40 u.40

(r) rEQ (2) l6R (3) t3T (4) 20w

Q.4l l'he diagram givcs the number of candidates who rl.4l
failed in chemistry, Physics and English in different
tests. The total number ofcandidates appeared was
600. What is the percentage of candidates who
failed in atleast two subjects?

(r) r8Q (2) r6R (3) l3r (4) 20w

a6r ru3r fdr,,fr idTd g{r gti}u+oi A ffi
0 EE€"s t fur3 dEfsd ktdrr,{.6, }k{
fefulrtra ),f3,trqfr t du-{{ H f+il e5 i'R
u?5r i ha f{s srdT *c 

=Ie' o+g<'at d dr
ffi ooo i.? J. 906+ g'frgggt m'{sks-r'
lIs' EA fud3 uE-u[" ? fEfr,rfl H ?r iE arr'

(r) l2.s (2) t.2s (3) t2.0s (4) r2

Q.42 Four positions of a dice are given below. Identi!
the number at the bottoh when top,s number is 6.

(r) 12.5 (2) t.2s (3) 12.0s (4) 12

q.42 frriffi Erurezr$i'ffi e}ild €c-EcEs6
fCi a€ urr a-{d Qtrd r,fil fifr{,,{' 6 t Bi'iB'
<'6 *e us' a?r

@s@@ @@@@
(r) 5 (2) | (3) 3 (4) 4

@o
CDO

@
ooo

(l)

(2\

(3)

(4)

(r) s (2) | (3) 3 (4) 4

Q.43 Four views ofone cube are given below. Each of ,r..43
the six faces ofcube is numbered. In figure 3 which
number will be opposite to the face with number 3?

@@MM
(r) | (2) 2 (3) s (4) 6

Q.44 Which one olthe following figures represents the
relationship among Zbr4 Grass eating aninulg Lions?

ffi k Er ure urezrgB' ffi t v"o fq to'
filJ arB ua 6 urfunn H utn 3 f,fir,:{' grfr
i'd tr itrso 6.s ifr ktrs','i{ 3 t E dr8
r{fr A-+dr?

@@@M
(f) I (2) 2 (3) s (4) 6

!.44 t6 ftrn{r{i'H. frrs'Hsd iqd', qro t{E
<tr* ilasd r,{3f }o ferE ffiq udr$r ir

@o
cco

@
.)oo

(l)

(2)

(3)

(4)

B 4 E I L 7

3 c 6 H 13 ?



Directions (Q.4547) sludy the following venn diagram

carcfully and answer the questions.

ffi o{mr ls-lz ) t6' fEJ drg +d ftrJd 6 fo,,{.6
6'su*Dr3fgJaE r{FF igTd Et

Q.45 Which no. represents the girls doctor who are not

teachers?

(t) 7

(3) e

Q.46 Number 8 represents-

(l) The doctors who are teachers also

(2) only doctors

(3) girls who are leachers

(4) girls who are doctors

Q.47 Which no. represents girls who is teacher as well

as doctor also?

(r) e Q)
(3) E (4)

6

7

Directions (Q.4E-52). The letters .....'..... given be-

low follow a definite patteren. Find out the missing let-

ters to complete the Pattem.

Q.48a-cead-e-dceadc-

{.45 h"E|' r{il s=rd}fliarrag fircfrryi'aftrynra

. Fr-egeas-€trte
(r) 7 (2) 6

(3) e (4) ls

r{.46 *t=6,gtu't-
(r) arilaI fruS rrrforrr.uE 4 ur
(2) +qs gr{a
(3) s-fdi{t frTnt t{r }rffo}rrtf{ u5-

(4) Fsdbrt fTdefrrrtr Ara?d ird

\.47 tf,trJ. r,fd, F5m,r{t ifiGil,{r ,rffo,,{qI{ }r3
sr{ed + uc g eax -€e'tt

(2) 6

(4) rs

(t) e

(3) 8

(2)

(4)

6

7

ffiE(qa?l48-52)td.fEidr?rftrd' d
s-S fud tirie-J g{ Bu' (pattern ) t u5x'o il fer -uu
tv' g ya. rer u6 g;rrs ?#ud' E dat

q.48 a-cead 
- 

e-----dceadc-

Q.49 

- 
abba 

- 
bb- abbaa 

- 
b

t{.49 
- 

abba 

- 
bb- abbaa 

- 
b

(l) aaab (2) abab

(3) bbba (4) baba

U.50 m 

- 
mm 

- 
n mmmn ----rnmnm 

-

(l) ddca

(3) ccde

(l) aaab

(3) bbba

(l) mnmn

(3) nmmm

(2\ dcae

(4) acde

(2') abab

(4) baba

(2') nnmm

(4) nmn

(l) ddca

(3) ccde

(l) mnmn

(3) nmmm

(l) bbaa

(3) aabb

(2) dcae

(4) acde

(2) nnmm

(4) nmrm

(2) ccab

(4) abcc

(2) bbab

(4) baba

Q.50 m 

- 
mm 

- 
n mmmn ----Jnmnm 

-

Q.5laba-baco ba-bacaabac-aca
(l) cacb

(3) cabc

Q.52 a hc bcc-bca

t{.51 aba-baca-ba-bacaabac-aca
(2) ccab
(4) abcc

(l) cacb

(3) cabc

{.52 a 

-ca-bc-bcc-bca(l)
(3)

(2)
(4)

bbaa

aabb

bbab

baba

Teachers



Q.53 lf l2% poople ina village, are suffering from can- {.53
cer and I 3olo from Hood prcssurc, which ofthe fol-
lowing d iagram best represents the sick population
ofthe village.

ia-d frit * rz q$rs 
=F 

dfi a'rrrd rs
rfSrs €F'Ef' eFd drs lfrF A+3i AE

fufiofli'f<Rktrs't+Tdfifs S Sx"dEtr il
&E €ar au sor'*e. iroooo(r) (2) (3) (4)

.[.s4 d6ifEi drE ifJd a gfo *eir i s* ut-d
ffr fE{ u'E fiid ftrg u-' ffi feaf u'Erffi.fuffir

o
(t)
ooo

(4)(3)(2)

Q.54How many dots lie opposite the face
havingthree dots, when the given figure is folded to
form a cube?

(t) 2 (2) 4 (3) 5 (4) 6

Directions (Q.55-56). ln the following
questions arrange the words as they occur in dictionary
and choose the corect sequence.

Q.55 i) selecr ii) setdom iii)send iv) selfish
v) seller

(l) i,ii,iv,v,iii

(3) iliiv*iii

Q.56 i) Hecric ii) Hesitate iii) Hunrer
iv) Hollow v) Hamper

(t 2 (2)4 (3)s (4) 6

fireBr qrr (ss-56) +6r t€ sqe xr*€ En
l,r_dE.ld d# irfl t6i fifJ sry H g?dr fiES gu
ffet' 4rc uif fur drs EEd. S silds rrdr rr6x"o
i.s'-€t
t{.55 i) selcct ii) setdom iii)send iv) selfish

v) seller

(l) i,ii,iv,v,iii (2) ii"iv,iv,iii
(3) illiv,viii (4) iivMi,iii

{.56 i) Hectic ii) Hesitate iii) Hunrer
iv) Hollow v) Hamper

Q.57 Find the nwnber r in 0re addition poblern giran below
835
4rg

-ro*,
'r', t .,

-lD o 14 4 e) 6 (4)s
Q:58 Isha, Surabhi and priya have the average of their

heighrs as l80cm. The height of priya equals the
average of the heights of others. Find the average
ofheighrs oflsha and Surabhi (in cm)

{57 brfurfriirEifrrf'f{er,t{ - d?l
8 35
4 rg
I r4
'))t1

(r) vl,rYrr,lll
(3) v,l,ryrrr,lt

(l) l40cm
(3) l70cm

lz) |LLVlv'I|

(4,, [,v,r14t tli

(2) v,Lrr,ryrrr
(4) V,il,r,rvllr

(2) l6ocm
(4) ltOcm

(r) Yr,ryfl,trr
(3) Vr,ryrrr,il

(2) YIJI,ryIII(4) YrrJ,rv,u

(r) 0 (2) 4 (3) 6 (4) s
{.58 drr, ErS rf} {}r{. S ,irs 9u,* 18o il)+.

ir rfrarr et ffi ro'ro i Edl{i * r}rs
M + 6E,rr3 fo-fr * firs ffi ti.rfi .

fsg) rs' atr
(r) r4oft)ft e) t6oi)i
(3) uoi)fi G) r8oiljfr

:)

o
oa

aa
ao
o

:)
aa

aaa

aaaaaa
o

a
aa

aa
aa
o

o
aa

a



Directions (Q 59-52) wooden cuboid is painted Red

on all the four adjoining sides and black on two opposite

sides, ie top and botton. It is then cut at equidistance at

right angles four times vertically (top to bottom) and two
times horizontally (along the sides).

'l'he figure herc represents the cuboid and lines rep
resents the culs made. Study the diagra.m and answer

the fol lowing questions.

ffi rqrtr s9-62) fvd F{3 i ur€r€ 3 srd
5rs g6pfrryi 3rf,Er O sr5 til rr3 e gre fu'
€ra ar3 io'l q dt6r t-dr dter farr,rr il fw g rnie
3 qa'ra gfr g ,ia fttsr fdpfr 3., sr6 qrfi 1$ru t
t6t) r,fi E s.fr (Erf,r€i rr51 fugr fil,,{. ftird rrr€ 6
edE _'+e" t re fu t'#, Fdr.E ae +c 6 ttsdks
credm o?s'r ftira e'ryfo,*s (ut) E? rrd'b,iJ3
arlqra'i$rofeQr

Q.59 How many smalll cuboids will thus be formed?

(t't 24 (2) 27 (3) 16 (4) 48

Q.60 How many cuboids will have one face painted only

in black?

(l) 4 (2)3

Q.6l How many cuboids will have no painted face atall?
(t) 2 (2\ 4 (3) s (4) r

Q.62 How many cuboids will have at least three sides

painted?

(r) 8 (2) 6 (3) 3 (4) 2

Q.63 A clock seen through a mirror shows quarter to

three. What is the correct time shown by the clock?

r{.59 },rFE f<S ffi f} utEr€' EE il€a;
(t) 24 (2) 27 (3) 16 (4) 48

{.60 fd8 ure.+ e. fiJd u'F frd3 a,tB'tar a'5
efdr)rfr Afurfr il

(r) 4 (z',) 3 (3) 2 (4) |

r{.6t rrfffi ffi urer€ ir6. fufl n ffi d u"i afr
tdr FdT 6frg' faIr,{tl

(r) 2 (2) 4 (3) s (4) l

q.62 ryffi f&B ure'< ud fird'. e dE-uie Bo, u.i
t-oat3tlurr

(l) 8 (2) 6 (3) 3 (4\ 2

{.63 fw eo'e turSl E mi d-fr Eg {fJfrs f€g
*re J E f$r e xxt ssr€d ir fr aa.a
(ur$) grf.dr tffr m{i il fert{rtsryt il+41. (l) 8:ls

_ 
(3) E:17

(3) 2 (4) |

(2) 9:15

(4) e..17 (l) 8:15

(3) E:17
Q.64 A is theson of B, while B and C are sisters lo one

another. E is the mother ofC. IfD is the son ofE.
Which of the following statements is correct?

( I ) D is the matemal uncle of A
(2) E is the brother of B
(3) D is the father ofA
(4) B and D are brothers

Q.65 A is B's brother, C is A's mother. D is C's
father. E is B's son. How is D related to A?

(l) Grand son (2\ Great grandson

(3) Grand father (4) son

{ 64 A,B er lfsd t, t€' fd B },r3 C ,rrruE fi+s
?s. ua1 e, r+r t C pi} r i D,E erlrsr i sr.t6
figfro,{t'fE+ frotr' dqa. 6tq A ?

( 1) D.A er If4Ir a
(2) E,B P vdr +
(3) D,A er irgr a
(4) BlrriD€ga'Td

{.6s A,B er Birr i, c,n S Ht }, D,c er fll-3t
trp,s e' {sd trD,A E s H fisq &re" tt
111 tsa'
(3) eg

(2) 9:15

(4) 9:17

(2') tq-E-rdr
(4) y3-d



Q.66 Sham Lal was born on March 6, 1993, The same

year independence day was celebrated on Friday.

Find out the birth day ofSham Lal?

{.66 ErX 5r5 gr tdtH 6 }IrdiI 1993 5 ilarr frr
9* r.r rrrrfrrit fuEE grf€'a 6l{d'ftrrr
Fonr fi ErH u'E gr E?tH fea us. a?r

(l) Tueday
(3) Monday

(2\ Wednesday

(4) Saturday

(1) )idrF€E
(3) Rr€rd

Q) gq-€'a

(4) Ff€"d
Q.67 Arrange the following in meaningful sequence

(a) Electricity (b) Dam
(c) Lights (d) River
(e) Power house

( I ) bd,a,c,e
(3) d,b,c,a,e

(2) d,b,e,c,a

(4) d,b,e,qc

Directions (Q68-70). Study the following
information carefully and answer the given
questions.

BQ,&S,T,YW and X are sittingaround acirculartable
facing the centre but not necessarily in the same order

. R sits third leff ofW

. X sits second to right ofT.

. T is not an immediate neighbour of R and W

. Two people sit between P and S. Neither
P nor S is an immediate neighbour of X.

. Q is not an immediate neighbour of X and p.

Q.68 Who amongst the following represent the immedi-
ate neighbours of S?
(l) ur (2) R,Q
(3) Rx (4) Xr

Q.69 What will come in place of the question mark ac-
cording to the above seating arrangement?
X PS V?
(I)Q Q) R
(3) P (4) w

Q.70 Who is on the immediare left of W?
(l) Q
(3) r

q.67 bfiFtgr"or*re*uffir
(a) ffi (b) 3r
(c) Brfr (d) efdlr'
(e) fimduro
( l ) bd,a,e,e
(3) d,b,c,ae

(2) d,b,e,c,a
(4) d,b,e,a,c

mE ({mr 68-70) fu'tfst at* il€-d.A O
fum' a'r u{ arJ iJ3' aB {m5i t Sre f€r

BQ,R,S,T,YW and X k ilsrqrd *fi g',fit'+sd
<,* u.E 3rd rdri nE od,,{i il3r& ?rS fd gd gG-{s
ve$g ?rrdE d t& i'Er. wtifiiufr*ixsa3 n to.tr. rifiumCixe.sSx t6'ir

. R r,fi 1y gt gr6fgi Utfl€ f fd it. p ,,ri s i sufiram E.ferrS tE urr
p r,r3 s eg fr 6'dr+ qtrrrr# ru? uc x t r

' ardt€ril"ti6r#i Xar3Pe'
{.68 +cfirfi{lti'Hffi s nffir+g}dl*r{i O

wEt€t u6,t
(r) wr (2) &Q
(3) Rx (4) x,r

{.6e qvid-s *ce t riuo i ? e Es'a, 3 dl
,rf.+dl. ?

X PS V?
(I)Q Q) R
(3) P (4) w

t{.70 W +ifr ui furgru rrr limnreOiate; de?a i i
(l) Q
(3) r

(2) P

(4) s

trefu tqrc z1-73) t6r fiJi arB qrr ffue t,l
il 6td silf€ er {fafiis (Mirror Image) fiJB art vro
f<auut rp,t ar3 + f€e iir

(2' P
(4) S

Directions (Q.71-73) Choose rhe correct
mirror Image of the figure (X) from amongst the four
alternatives given along with it.

Q.7t

(f) (2't (3)

@ u.71

(r) (2) (3) (4)

l0

I 0 e A
€

ot' il
F-!
,1 

../ t,j
t=I



@ @ B ts

Q.72

Q.73

a

6 v. 0. 6'
(r) (2) (3) (4)

Dircctions (Q.74-75) out of the following two sets. Ist

set is a problem figure where as the 2nd set is of answer

Iigures having four altematives. You have to find which of
the answer figure would fit in place ofthe question mark

(?) in problem figure.

u.72

q.73

'6 v. {. c
(r) (2) (3) (4)

fire€r tqfa 74-7il ld fce nE e F H'
ufoE fra qra, t+Jd e. i r,r3 gf,'ild f<duur er
fr'a 9rc fffi e' il 9se tdvat fgf Qu rfr f<asu
gE i' qlr6 ftr6 ( ? ) d st CfdI t€t

u.74

UNNN
u.75

ffi tqrr 76-?2) t6 fiE} ae fdJd (r), (2) (3)

,rJ Gl H'gr E gE i' t+rd (x) tgE f€ @ e
Esr6i r{6Erd 116r$ yexd are. t+t

@
(x)

@
(x)

(1)(3)(2)(t)(4)(2)(l)

Q.74 @(,

@
(x)

W
tr)

WD

I
{I

@
(l)

&
(3)

NNNN (4)(3)(l)
(4)(3)(2)(t)

Q.7s

Directions (Q.76-77) From amongst the figure

marked (l), (2), (3) and (4) select which satisfies the

same conditions ofthe placements ofdots as in fig (X)'

Q.76

D
(4)(2)(t)

W
(3)

q
A

(4)

W
(r)

WD

I
(I}

@
(t)

&
(3)

D
(4)(2\(l)

D
(3)

q
A

(4)

r{.76

ll

@ @ B B



Q.77

Direction (Q 7E-t2). In each ofthe questions given
below which one ofthe following answer figures should
come after the problem figures ifthe sequence were con-
tinued?

Problem Figures

Q.78

Q.7e

Answer Figures

Q.80

Answer Figures

Eifurlf'ftiTd

)_

'---'2

\_ 
j--

+--
-\ftaf+s-d

@
(2)

a
(4)

@
(,r)q

( t)

@
(3)

{.7e

u.80

l2

TlI ITT JTI ,l I1 ilr
Answer Figures

@
(.r1q

(t)

d
(3)

@
(2)

a
(4)

ft-df+rdiru
ir._-i> ,IFl1_-li<-i--\l=-l--,i
:_--\: 

-* 
I ----* i)--- i(r) (2) (3) (4)

EifurrnftrJd

gsditrsd

Y.77

ffi tqra 7E-82) adf E aa Wdrf+s tJf
Brg gs-d Ffu,H'ktrs'fifa idi dri mlhril.
fiJ'sd + lrH #fdr, i' rS H' rf, H-& afih* tr

Eyhrr{.i+Jd

r{.7E

Tii III ITI JTI tlt

Problem Figures

<-

)_
<l-

-+
z__

\---

+

_-<
<F-

\./ ->\-.-.\ a A k/
{ a A

(t) (2) (3) (4)

Pmhlem Fisurcs

.i TI TIT Ijl TIl



Q.E I Problem Figurcs

\.

^\\ N
\.\ \)'

Answer Figures

Q.82 Problem Figures

I = tu --l

E ir
Answer Figures

:l
F

>.
n

F
U

t--

>.
= F

Directions (Q.83-85). ln each questions square/cir-

cular paper has been folded as shown with the doned

lines in the given figures. The las figure (Z) shows how

the paper has been cut. How would the paper look like
when unfolded?

Q.E3

-Q.14

Q.E5

:- Lq
z

t{.8t mYfrxr f#.a-a

'\\
N

\.' t\

gsdftt3d

q.82 ElYfE,,fffdsd

;t = T
U

-{
E l,-

gsdfttua

ffil=ln lu l=l
Lrl--t--l-- rl-rl(r) (2) (3) (4)

ffi tUre 83-Es) fE <rarc-ozfro a-are t
f{3 tr ftr' trfl€t } 5rs-5rs frfprar fdprt. t fif,+ fq
f+3-d f+ sogfrry. fdrrrr'i, f6? fuE S lrrtrdt tJyd
(a e 'd6Er6 dfiarr fam a"am Bgc QrrtJ ffi
frdr s+dr ?

r{.83

u.84

r{.8s

:s'S:NN, StNNi})*tTr---rzT.*1ri--irr- *O---l2t-*it--(4) -'

tr
x

F]lf__!l
(t)

@
x

(t)

T.Jl
tl_]

x
ffFalllL^"J
hEd
(l)

ru
(4)

+
(4)

5=;-a
t""4PV9q
(4)

IUEa-lfl s-a-Z-EL^oJ 5""C
lruAd 5""C

r(_]Lll
x

FI
[.____rJ

(l)

a\I '-i-' /\j-./
x

(t)

f-r=lul
x

nrnlflnt""J
ln-ss.nl

(l)

a
IF_l
l" ":"1

(2)

iE
@

(2)

F-lla o4l

(4)

+
(4)

,,'-D
zc

(3)

a
ru

(2)

{: D

@
(2)

(3)(2)

5;;e
F""4
E-Ysd

(4)

13

,''.D
zc

(3)

z

( t) (2)



Directions (Q.86-90) Select the related
number/ Letter/Figure from the given altematives.

Q.86 15:220 ::25: ?

( l)600
(3)62s

(2) 620

(4) 6s0

(2) KPLO
(4) TGSH

ffi tqrs eo-eo)
aEfscsqt fEtVAr
U.86 15:.220:.:25: ?

(r) 600

(3) 62s

(l) JQKP
(3) YBxc

{.88 W5ttr5d

trsdf+sd

r{.8e {rsfisd

r{.eo {F6-fiff5d

fudt+rd

ffifus,,fdAhrd/tJyd tg3

(2) oa
(4) 6s0

(2\ KPLO
(4) rGSH

(l) JQKP

(3) YBxc

Q.88 Question Figure:

ArsY6 FlSEt :

Q.t9 Question Figure:

Q.90 Question Figure:

Aort?r fElrrcc :

[T.ffiT.E E.MI.E
EMME E]MMtr

(l)(4)(t) (4)

E,@m,E E,Erm,E
AnrwerFlgucs:

ffirmtr tr
(3)

m
(1)

,@,,@,8 @'@,'@'E

(4)(3)(2tfl)

l4

r+\l+ I

i\+'1
rZNIkl G @

Q.87 AZBY: CXDW:: HSIR:?

tm
trsdf+sd

(3)(2)(3)

rffi
(t)

(3)



Q.9l A ray oflight goes from the medium ofrefractive

index p, to a medium of refractive index p, . The

angle of incidence is i and the angle ofrefraction

is r. Then (sin i/sin r) is equal to:

( l) ltt

(3) !t1t\ (4) Pzt lt,

Q.92 A boy sitting on the top most berth in the

Compartment of a train which isjust goingto stop

on the railway station, drops an apple aiming at

the open hand of his brother situated vertically

below his hands at a distance of about 2m. The

apple will fall:
(l) ln the hand ofhis brother
(2) Slightly away from the hand ofhis brother

in the direction ofthe motion ofthe train.

(3) Slightly away from the hands of his

brother in the direction oPposite to the

direction ofthe motion ofthe train.

(4) None of these

Q.93 ln the following electric circuit, what will be value

of i, and ir?

Y.91 tg l1-err d kd6 Eil H'foD1{ fsre. mre-cga

,iA &, i e gfr r{rforr1f fgr er rrflr€3.g.d ri6

p, t, <r et * t r + rrrarS *E i ar3 anr<cks
6ia r i gt (sin i/sin r) fqx t ro'ra i-?ar z

(1) ,tl

(3) 1t,11t, (4) Pzl lrt

{.e2 fu fufe},{rdfr dd e grd <'d *a luertnl 3
+6't fird-St{H rHa3-a-{e<'d trgd
,rrtlfA is fiet fE iq D{rtI. vd. e fu ks
E-.e' i fr tu 2ffed d gfr 3 il to. i t €E t*
is frtE fiffrdl'?
(t) qEera'?fufssr
(2) eE+s-d'efueE.E fird.l{e#

darSdfw€ut
( 3) eF + vs' t ie' i fs. frd. ui ffi

marSdQFcfwtst
(4) ffifsBAdFfit

{.e3 t6 E3 dle ffi rea-a f€s Eira i,,r3 i,d
drs*i'€afr?

lLz(2)
!zl2

(1)r,=;fr;,; i,=;fr,;

R.
(21 ,, =&*E, ;

. R, +.R, .

(3) u = &-"
(4) None of these

i-= R= i' X'+R,
(2) ,,=#R., ;

.R,
' R, +&

. R,+R,.
=R,. R,+R,.

'R,
. R,+R,.

(3) t=-n,-, ,

Q.94 The human ear can detect continous sound in

frequency range 2OHzto 20000 Hz. Assume speed

of sound in air is 300m/s for all
frequenc ies.Ca lc u late the wave Iength

corresponding to the given extreme frequehcies

ofaudible range:

( l) 6.5mm

(3) I l6.5mm

(4) fsfd.f€te*trfil

{.e4 E 6$ e-6 sir=ril 20Hz 3 20000 tlz 4YES
def,a 5gra-e'trfra s€ usfifo'rrs'e*
ar* roomls r&ad,.)rrfF,h{r sE3 t I EerEdT
ryrsrs 1i} ryn5fi lexrreme) rrFfqd d 3tdl ftsd
?'ffr
( 1) 6.5mm

( 3) I l6.5mm
(2) l6.5mm
(4) 6l.5mm

12) l6.5mm

( 4 ) 6l.5mm

l5
:

I



Q.96 An electric kettle is rated 230V & 1000W What
is lhe resistance of its element?

Q.95 lfwe increase the velocityofthe body by three times

what is the change in kineic enerry?:
{.e5 *{d ki Y6 eS ero S ss a Olu. €q idt si

gE 6 drEHed-rr frt'qre' eo a€ofir
(1) 3 g[ar Q) 6 Ue'
( 3) gdr€1 G) e E!-e'

t{.e6 fE{ knsf a3lf + aEdr 23ov & 1000w A I fw
t xt-tfco letement) A tISqJ.6rS ilPdft ?

12\ 5.29 ohm
(4) 5290 ohm

g ez iaa ilard, utr',ri us iiar ilur frT6i fr6r'-

(l) 1"> L,> 21, Q) )' "< L,. L,
(3) L,< 1,< )., (4) L"< ).,< 1,

{.e8 F{ frHffi Er rfifrs gJ6 tH 3rrrf'f, Ffifir, J
{qI3 dt3r il-en tr i-dE #ffr + ffi'E'i 6
,ilur€dfi q6,t _gd sd ta E-o fu. a€ s' ufufrE
a E +f, ui itgcsr i d <eq uear.r
(l){Afts er x€tfi gfr dfur.rrfi frrs'u?ettr
(2)rISfrE,rflSra.srgfrdffi
6) 5ifu s r*s ez' rr} irrs' ge didfr
( 4 ) rISfrE e' F+fr €8",il3 dE€r rne il#

( l) 3 times

(3) 2 times

( l) 52.9 ohm

(3) 529 ohm

(2) 6 times

(4) 9 times

(2) 5.29 ohm

(4) 5290 ohm

( r) 52.9 ohm

(3) 529 ohm

Q.97 The wave lengths corresponding to violet, yellow

and red lights are | ,, l, , and | , respectively then:

(f) h,>1,>1, (2) L,< L,. L,
(3) 1,< h,< 1,, (4) L,< 2',< 1"

Q.9E The image ofa candle is formed by a convex lens

on a screen. Ifthe lower halfofthe lens is painted

black, to make it completely opaque. What will
be the size and intensity ofthe image attained?
(l) image same, intensity reduced
(2) image and intensity remain same

(3) image small, intensity same

(4) image becomes bigger, intensity rcduced

Q.99 The purpose of glass cover on rop of a box-O?e
solar cooker is to.......
( l) Allow one to see the food being cooked
(2) Allow more sunlight into box
(3) Prevent the entry ofdust in the box
(4) Reduce heat loss by radiation

Q. 100 A 60 kg man goes around lhe earth in a satellite.
ln the Satellhe his weight will be?

u.ee iisd q.6? e s{i i g,rd6' dE fdg FdrfE,{t
grg,r I z

( 1) stitrs' f;ilk tsa; k frpr{r t fa r$r
(2) 3i i Eff, drfr E"6i tir,r{rer Hr3dr f+s .

dres uirs il€'r
(3) 3i i' q=r ile ,fsd rt iI. E6re. I

(4) st ii rire-d6 aofi e.fd E H.FAt

{.100 fE f<nf{* fHE e' [re Oo ks t gd ftes'*a g
,rsd crst A,rr6-eril-t'qH fro'ttleeFtte i
,r'eZ gre. g.d fr6r t+dlr ?

(2) Z.erc
(41 600N

(l) 6ke
(3) 60N

(2) Zero
(4) 600N

Q.l0l The Principle on which Generator works?
(l) Magnetism (2) Electric field
(3) Electro magnetic (4) FhD(

lndrrction

Q. 102 Two bodies with kinetic energies in ratio 4: I are
moving with equal linear momentum. The ratio of
their masses is.
(l ) t:2
(3) 4:l

(1) 6kg
(3) 60N

{.10r iraed hE fuq|3 i &x {re' i
(l) *drtfai (2) ffitsd

(2) l:l
(4) l:4

(3) fungErdtde g) EdaE

i-.r02 e eE=rt{r i Edrtrd Fd5 ,rrr+dr 5r8 4: I }rIdqr3
in drEig€ffrr 6'6goa+r,r.usr&ra. 5 frs
er 4EitIr3r ie"Tr I

l6
(r) t2
(3) 4:l

(2) l:l
(4) t:4



Q.103 Empirical formula of compound is CH,O. Its
molecular mass is 60. The molecular formula will
be?

(l) cH,o (2) c,H4o'
(3) C,H6Or (4) C4H8O.

Q. I 04 Which of the following ions have I 8 elecrons, l9
protons and 20 neutrons

(2) K*
(4) S1'

Q.105 Which of the following is an example of colloid

( l) Vinegar (2) Milk

(3) Muddy water (4) Sugar Solution

Q.106 The total number of electrons that take part in

bond formation of N, molecule.

{.r03 frfffir er LrE-r,{61{rS EEIiI CH,o ttQrg'
dE fl-s oo irr aq Ys-a i-iar
(r) cH,o
(3) C,H6Ol

{.ro4 f5lrd'fuirsrr{'f fiEilfdEi6 18 fi#T6,
le tad, rrr3 20 f6g-a.5- T5

12] K.
(4) 52'

(2) C,H4O2

(4) C.HsO4

Q.107 A Compound contains six C-H bonds. two C-C

bonds and one C=O bond. The formula of
compound is

{.ros f6)r6, f6{g fieA Anfu d gguee t t

(1) kdar t2\ gq
(3) firar,r'gr ud (4) tse'E6

{.106 N,"{Ei ffs T5 f,ffi'firef{rd. tq-6, r€'ge
fEe g.o iE ua
(1) 2

(3) 6

v.107 Fdr dEfrfE{ dfaE f€€ a c-H tq6', E c-c
tq-d rrS p-fi c=o tqa trfriore e'yro i
(1) HTCCH,COOH 12) HTCOCHT

(3) HTCCOCHT (4) HTCCOOCHI

rl.lo8 0.001 FFd NaOH r[rS pH i€afi

( l) Ca'2-

(3) cr

(l) 2

(3) 6

( 1) Ca2'

( 3) cr

(2)

(4)
4

8

12) 4

(4) 8

Q.108 pH of 0.001M NaOH Solution is

(21 r0

(4) e

Q.109 Which substance willcontain maximum numberof

atoms

(l) 4gm of NaOH

(3) 2gm of H,

( 1) ll
(3) t2

{.r09 fuF rrgrdtr f+g Ear 3 ffrryrer ud){Ei ir6
(r) 4gm of NaOH Q\ 4.4gm of CO,

(3) 2gm ofH, (4) 24gm ofO,

{.11o ft6r f<S 4- d rof rrs's'oig'
( 1) u5& H,soo 6 fe t qo-sr fts are'
(2) ilrd E5+e €' uio E Y'd n rrsc

Es are'
( 3) uFe' Hrso. O dtud * srg6 f*e arc'
(4) kffiAAis6anrelwsa'fu aa'

{.r11 orE1-f;rd lf@rrEErdE (H,o,) f+g uff-trF
ry3 ry'artra d !e Vfurs H-s-f, usr ael
( 1) 5.E8% ;94.12o/o
(2) 6.88% ;93.12V.
(3) 94.12o/o ; 5 .BEo/o

14\ 93.12o/o ;6.880/o

t7

(t) HrccH,cooH
(3) H.CCOCHI

(2) HICOCH'
(4) HTCCOOCH3

(2) 4.4gm of CO,

(4) 24gm ofO,

(l) il
(3) t2

(2) l0
(4) 9

-Q.ll0 Which one of following should not be done

(l) Ptacing dilute HrSo4 in a Zn vessel

(2) Ptacing copper sulphate in Ag vessel

(3) Placing dil HrSOo in copper vessel

(4) Placing zinc sulphate solution in a

copper vessel.

Q.l I I What is the mass percentage of hydrogen and

oxygen in hydrogenPeroxide (HrOr)

(l) 5.88%o;94.12o/o

(2) 6.tto/" ;93.12%
(3) 94.12V, ; 5.88o/o

(4\ 93.12o/o ;6.88%o



Q.ll2 ln the balanced equation the value ofx and y are
3cu+r HNOl+3Cu(NO3).+yNGr 4Hr0

-u.ll2 fr6ar$dErfEfEaxrftrref?e x >rr3 ye.f,r
i r 3Cu*, HNO.,+3Cu(NO3)r+yNGf 4H,0

l2l &6
( 4) 7,t

Q.l l3 Alloy German Silver does not contain one of the {.rr3 fi{Etfsry t-o{?r ffFsd f€u ffi q-s aiff

(r) 3.1

(3) 82

following metal.

(l) Cu (Copper)
(3) Ni(Nikel)

(l) Cerebrum

(3) Medulla

(l) Ribosomes

(3) Cytoplasm

(2) &6
(4) ?,t

(l) 3,r

(3) 82

Q.l l5 Which of the following pairs is incorrectly
matched?

( l) Ligament-yellow elastic tissue
(2) Cartilage- adipose connective tissue
(3) Lymph- fluid connective tissue
(4) Bone-skeletol connective tissue

Q. I l6 Which of the following is not true about apical
meristem?

(l)tr is presont at the growing tips of
stems and roots.

(2) ftbrings abolehngdim ofit e gn ad rccf
(3) It brings about secondary growth
(4) lt brings about primary growth

Q.ll7 Which parr of the brain controls co-ordinated
movements ofour body, such as riding a bicycle?

Q. I l4 Which parr of rhe human alimentary canal, is the
site for complete digestion of carbohydrates,
proteins and fats.

(l) Stomach

(3) large Intestine

{. r I 4 Hfit * ursa, Fcfr O ffi ffi f€s Erdtirdliz,
FtaaA um, yfi rfl. tre ait ucr
(l) frrrer
(3) +dtr-sd

(2) a*),{rsd
(41 ker{

{.rls t6 fisfi{r{r H ffi i3 e' *o rfr r# }r
( 1) kdr+a- tnt' r€-ms. fclr
(2) drdA*fr- rldtEif{ftE
(3) Efrfir-sdsilJ-{fzEr
(4) id- ftftrdi*-dfcF

{.r 16 t6 firfi{rfr Eq6T H ktrsr futrn }ffi}f s']
Hd6fit
( l ) lE sei ri' t firEar infostE udt
(2) h Te ,rj fl-{ el ffi f€s e.q.

a-ea us
(3) FdEeHfs{qaa€ur
(l) h g'fu-fi fuq''E a"t o?t

{.ru EB ,r#d f+s 9E6fi6 Fr6 fu-<afrrrr oTEtsr .
hT+E +{Egg,_e€', ferdrtffifiti€},t d,
idpfii5ffi'rf. peiryr35l
(r) *#sdr
(3) tr-Jsr

o) ftfr*su
(4) t6,E

Y.rl8 fu dr# fr6 fEE Fsrr'd ar$ gr t s.art
f*e, hyilSsf+s ililStr
( l) a.rS fii - 3=oeizr -,}Er.a - fr6 r+d
(2) fr6n-#d- +dx'a- +ga6ar- 6.*ffi.
(3) *rildzr - E-S ffi - i6 F+d,r{g",
(4) +roeta - *s r#d - AqE.a a,:fr firt

{.rr9 +6 fttftf,r{t H, f{rs'is,rrar *6 +s f€g
sErrotfu?
(rl o'g1g;to
(3) Effir6rHx

(2) Zn(Zinc)
(4) Ag (Silver)

(2\ Smalllntestine
(4) Rectum

(2) Cerebellum
(4) Pons

(2) Chromosomes
(4) Nucleus

H
(1) Cu (arlfiI)
(3) Ni (ftd6)

l2l zn (fik{)
(4) As (frFsd)

(2) qrdr=rgd

(4\ *e-f,{

Q.l | 8 The correct order of the parts of a nerve cell
through which a nerve impulse is tsansmitted is.
(l ) Nerveendingsdendrites-axon_cell body
(2) Cell body-axon-dendrites-nerve endings
(3) Dendrites-nerve endings-cell body axon
(4) Dendrites-cell body-axon-nerve endings

Q. I l9 Which of rhe following cell organelle does not
participore in c€llulardivision.

l8



Q.120 Gautam prepared a slide of thigh muscles of
cockroach. What type of muscles would he

observe, when he views the slide under a

microscope.

( l) Striated muscles

(2) Non-striatedmuscles
(l) Both striated and non-striated muscles

(4) Nervous tissue

.Q. l2 I Which of the following statement is true about

dicotyledons.
- (l) Their root system consists of similar

fibrous roots

(2) Their leaves have parallel venation

(3) Their vascular bundles are arranged

in a ring
(4) Their flowers are lrimerous

Q.122 Which is the largest endocrine gland in human

beings.

(l) Pituitary

(3) Thyroid

(2) Adrenal

(4) Parathyoid

Q. I 23 A plant has a body differentiated into root stem &
leaves. lt also has tissue for conduction ofwater and

other substances, but has naked embryo. Under

which type will such plants beclassified?

(l ) Gymnosperms (2) AngiosPerms

(3) Bryophyta (4) Pteridophyta

Q. l2a Which part of the human ear converts Pressure

' variations into electrical siSnals.

(l) Eustachian tube (2) Auditory nerve
- (3) Ear drum (4) 'Cochlea

Q.125 Choose the correct hierarchy in classification goup

(l) Phylum-class-order-family-species

(2) Phylum-order-class-family-species

(3) Phylum+lass-family-order-species

(4) Phylum-order-family-class-species

Q.126 ln which of the following ways the number

1234 567t9 can be written as tlrc product ofpowers

of prime numbers.

(l) 3'zx 3E03 x 3607

(2) 1'1 ,3807 x 3607

(3) 13'?x 3E0l x 3601

(4) ll'?x38l3x38l3

{.r20 d-sx*ffie - €htt'nfrr{.*Eurfs
fp{rd ffrErt"fl-J f E+tsdm A6'Arrd 3
gF O lfr ttd.d t ti Ftrd r€€A t

111 q-+e-d eii
(2) qr#dfosili
( 3) ffi q.&eE,,r3 q.d ufrs eR

(4) 5'rSftE

{. I 2 1 t6 fsfir},rr fet ko-g' aqa E.-Etfi ffi tfE,fi
uf rdtt
(1) ffi6r+Vd,ttuor+ed

TET iI
(2) tfsrf. f€e rr.rrrt-sa <fiu-$ r{drfr

iret iI
( 3)'rtr+d6 fzE asrd'rd sT3ts<rd ta 15
(4) Ftr6t'efsflrHtEus

{.r22 r-tu fto rg 3 €tst',rrsd tnE 6' tm ffi
ti

t2\ 4tsfr56
(4) tflsfrdtu

(1)
(3)

(1) fiil{tEuor
(3) EffiE+e

(D ,ftfl€Erdt{
(4) ?feffia

Es 5.*
4r{drrfr

fr@
sEtdrfE,

{.123 fE tg f+s F{, sdr ?,r3 fri €u €u stma ur
fuE ffr tI"El r,f3 ia ue.ue t frFr€ rr* ko'-d

fuE + t rrd fE fts qde t-fr u6tfsr s{* e
tJfarsuurgsryr_ffir

{.r24 6$ &6 er fqtrs. gtdl es'rrf frr53' 6 ffi
FEfifdEsgat
(1) gr?frDf5res Q)
(3) i+6 er uds (4)

{.r2s '<irdfr dir6 ar$f f FS srfrrtd gtt
( l) R6sH-td- Drrf,sd-iis-F.gt
( 2 ) E{tsx-},rr6sir- AEt-dB-gr$
( 3 ) 6dln{-t$-ds-}2{rrsd-t€t
( 4 ) Rlfr5H-),{r{rd-f,s-A-c+-td

r{.126 frfi{r,{t 123456789 5 rer* irfrraret d utts t
qr€rc6+-au fqg t6itrg}:{t'fue ter gro
dr6 fufrfnft tt FE-g' aI
( 1) 3'?x 3803 x 3607
(2) 1'1 x 3807 x 3607
( 3) 13'? x 3801 x 3601

(4) I l'!x 3813 x38 l3
l9



Q. 127 A train covers a distance of480 km with a constant
speed. lf the train runs with a speed 8km/hr tess

than the original speed then it takes 3 hours more
to cover the distance. Find the speed ofthe train

t{.127 fE{ AF ffd 48o fq:}fr. d g& fu* rrrr e's
Fr63ry a-ed irtru firS sE 8 t{:#. uS
dra utc ffi si ge $r rea ud i E? i*,lrrer
roertoffidq'cus.E?t
( t) 60 fu:rfr ysfr rira (2) 40 fu:fi Tei} dre'
(3) so fu:fi uS ura (4) 30 fu:)fr {-efr dra.

{.128

(l) 60km/hr
(3) SOkmftr

(2) 'l0km/hr(4) 30km/hr

Q. t2E

In the given figure, find the area ofthe shaded region.
Here ABCD is a square with side l0cm. The semi circles
are drawn by taking each side of the given square as
diameter(taken=3.14)

( l) 97 cm, (2) 67 cm2(3) 75 cm2 (4) 57cm2

Q.129 lf the triangle XyZ is distorted so that Zy is
doubled and ZZ is tripled, then ZX becomes a
right angle which ofthe following is a possible value
for lY.
( l) 750

(3) 450

Q. 130 A taxi charges Rs 75 for the first quarter ofa mile
and Rsl5 for each additional quarter ofthe mile.
The charges in rupees for a trip of d miles is(r) 7s+t5d (2) 7s+7sd
(3) 75+ls (4d_l) (4) 7s+4(d-t)

Q.13l A farmer has some chickens and some cows in
his farm house.lf the animals have a total of 120
heads and a total of300 feet, how many chickens
does the farmer have?
(r) 60
(3) 80

Q.132 lf tan0+Cot0=2, then the value of
(tane)'@+(Cote)'oo is equal to.

fi83 a[B ftigd fug e'E,fierd Hs6 er +sr66
lfsi dBrfifr eeco k <ear i furd ute rfr' ro
i rfr i r <an d ga. 6 ferrm ffi rroo fdd ifn #
irst(r F [o r.ra u6l

(2) 67 ft)ft
(4) s7 i:1ft2

{.r2e + Axyz i zy S gdrdt }}rJ zz $ fzare, ada
6E lX sr xnJ Er*a sr Fe 3r fu ffi{rrf.
fiER ktrs. zy e' Hq i. rae' i t
( 1) 750

(3) 450

(2) 600

14) 300

12) 75+75d
(4) 75+4 (d-l)

12) 70
(4) 90

t€ 
=i 1rane1'r+1core)rm er

(2) r00
(4) 2

(2) 600
(4) 300

( 1) e7 fr:rfl2
(3) 7s i: lft

(1) 75+l5d
(3) 75+rs (4d-l)

(l) 60
(3) 80

{.132 if,d tanO+CotO=2

f6?+dr
(1) 200
(3) r50

{.r3o fEEr H ufu }fr6 B.FB A uffi +R ffi 6e
?s BrE ffiE,{r ttt t ari narB oa ffi Hlrrf rs gr.rB faa'Ezr efs a-ed t I sS,a' rfrs
u1i}ffieryrafrrrp f<i ue-o,

{.13r fe6r faEr5 i.s q|Y Erg ,ri Sv iilr€r ir6 t Fra?
r-rsfr e fu, d farsdr rzo ,,l1i tA er ffi
3oo te lIt f{El-6 As Efu}rti.* ffi eE ?

Q. 133 A circle is inscribed in a given square and another
circle is circumscribed about the same square.
What is the ratio ofthe area ofthe inscribed io the
circumscribed circles?

{.r 33 fEEr eifin t Drg.d yfrs 
O xrros aTer Bd fufuD{r

ti,Irfr uteirdl gEitd frtrd. R 6urer fud fvfu,}lf
fuar ir,tgot' €-*o E tJCd6 rrr} E aa8. fu J
treer var5uerrs' dt

(r) 200
(3) rs0

(l) t:4
(3) t:2

(2) 100
(4) 2

(2) 70
(4) e0

(2)
(4)

4:9
2:3

(2)
(4)

4:9
2:3

(r) l:4
(3) l:2
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Q. 134 What is the set A if
A={x: xe R; x'2= 9 and 2x=4}
( l) Infinite set

(2) Finite set with two elements

(3) Singleton set

(4) Empty set

Q.135 In the figure, the

(t) 360 (2) l80 (3) 540 (4) 680

value ofx is.Q. 136 ln the given figure,

(l) 450 (2) 340 (3) 640 (4) l09o

Q. 137 The value of 6.42-3 .

4t9
990

421

(t) 0.?

(3) 1l

{.134 E}n AfuFvdtgrt+{d A:{x: xeR; x'2= 9 rrlS

2r4l
(r) rrt3 E=)ro

(2) fursc,BaT A rirg ergr
(3) fuilkJrELrd
(4) tfrIitElro

u.135 lg=ra f€tI x g

(l) 360 (3) s4o (4) 680

x gr n.?' t'idtt t{.136 fs3 drE'fibd f€

(l) 450 (2) 34o (3) 640 (4) l09o

(3) 
looo

(4) gsg

Q. l3E A man buys a pair of shoes for l0% less than is
original value and sells it for l0% more than its

original value. His gain or loss percentage is.

(l) No profit, no loss
. (2\ z0o/oqrofil

(3) Less than 20% profit
' (4) More than 20olo Profit

Q. I 39 What are the real roots of 2tx! -1x+s =l '

u.r38 k ry.e)fr 6 gdar. e fu{ ilE ffi T rs
!rur g lo% dra 3 Ste)r{' ar3 ffi 'rrrr !'s "l0% 619 3 eg fugrl€E fr 6g o/o Hr ilrd ozo

dt-#a
(1) ?'r a6uE3 5ifru'-&
(2) 20Yo 6rll
13\ 20o/o 3 ure 6rt
(4) 2o%?tqFr

{.139 2:':-zx+s 
:l g Eilrsts-d. 116 u5 I

419(r) ess Q)

423

g.rrz 6.a23.efeir
(l) 

egs

423(3) 
looo

(r) o,1

(3) '?i.l

419(2) 
990

421(4) w

(2') -L%

(4) L%

(2) '1,%

(4) r%
Q. I 40 The pmbability dra a norrleap yea has 53 smdays is.

ll(r) j Q\ 
5

22(3)1 @ 
s

{.r40 fsil E+d du ErE fEE 53 *se'Td r{ig€:
d tss'sts,.il tgdfr?

I(r) 7 Q)

2(3) 1 $)

I
5

?
5

2l

of .r is.



Q.l4l What is the unir digir in.

rc374)n'gt, (625)3r7 , (34t)ael

(l) 0 (2) 2
(3) 3 (4) s

numbers then values of x,y,z are

{. r 4 I frftp,{t (537 4)11e1 x (625)rt 7x(34 
1 ;rer a ffi

ftIr6. gr ,rtd A+dp
(1) 0

(3) 3

(1) r2,5
(3') s2,1

(2) 2

(4) s

12) t,s2
( 4) 2,s,1

37_", I 37:.,- I

l3-'- I - 13 |

e.142 lf r+ I where x,y, z are narural 
tI'142 i'{d '*r*l "fd*,},,Y+- z

rlrfilga irfo)r{r€r T6 3i x,y,z er Eg * i+dlr r -
( r) t2,s
(3) s2,t

(2\
(4)

1,52

2,5,1

( r) 0.02

(3) 0.08

the sun is.

(l) 300

(3) 5oo

(l) Gapon
(3) Kerensky

(1) 0.02

( 3) 0.08

(2) 450

(4) 900

(l) alrl
(3) ai}r*

(21 450

(4) 900

(2) 300

14) 500

Q) Sf6d
(41 Ecrftrd

(2) 3oo

(4) 500

(2)
(4)

l,enin
Stalin

Q. 147 Who hosted Congress ofVienna?
(l) Bismark (Z) Nepoleon Bonaparte
(3) Voltaire (4) Maltemich

Q.148 Amritsar was founded by.
(l) Sri Guru Angad DevJi
(2) Sri Curu Amar Das Ji
(3) Sri Guru Ram DasJi
(4) Sri Guru Gobind Singh Ji

22

V.r4? f<r,{rF qrdrdE gr }frSr5, +e fr ?

(1) fuEtrtila lz) *ffir,fd E6qrrc
(3) €rr'?ryd (4) Hd{

r{ 148 ,ir0!-sFd + d-o far ry - }s i
(t) f,Erorldl€,CE it
(2) f,W4ffEry&;fr
(3) 8OlraqrefF*
(4) f,Wdfrefrurifi

Q.1.13 Find the vatue of 1ffi
(2) 0.2

(4) 0.8
.Q.144 The length of the shadow ofa tree is ,[ times

the height of the tree. The angle of elevation of

Q. 145 In the given figure, PQ and pR are the tangents to
the circle with centre O such that ZepR = 500
then ZOQR is equal ro
(t) 2so

(3) 400

Q.146 Who led the procession of workers to the event
'Bloody Sunday' in Russia?

V 143 VJ0.000064 erEI'usraat
(2) 0.2

(4) 0.E

{.144 fEEr edrGr + lrrer+ d ffi sdtrs d ffi
3 JJ qs' tr 9r xrlp* er€eru te A Hr?
(r) 300

(3) 600

{.145 fs3 t} ftisd kg pq rtr} pR ak o EIB +{d
€trrtt'EudE evr€iu6 t fua zepR = 500 il? Br
ZOQR er xq i'Ailr I

(Ll 250

(3) 400

tl.r46 rg lrF f+s 'yd +sE d, * urerl ErrA sr.
H?r.sdi * rrr-il<E} *c ra fAr fr t



Q. 149 Annexation ofthe Punjab by the British in
( l) I 5 August, 1947 A.D.
(2) 26 January, 1950 A.D.
(3) 29 March, I 849 A.D.
(4) 2l February, 1849 A.D.

Q.150 Read the following statements and choose the

correct option.

(A) Allahabad pillar inscription is written

in praise ofChandra GuPtaJ

' (B) 'fhe Vishnu temple at Devgarh is

dedicated to Lord Vishnu.

( l) A is false but B is true.

(2) B is false but A is true.

(3) Both A and B are true.

(4) Both A and B are false.

Q. I 5 I Which ofthe following is not con€ct matching.

(l) Gautama Budha - Tathagat

(2) Vardhamana - Mahavira

(3) Ashoka - Priyadarshi

(4) ChandraGupta-l - Napoleon of lndia

Q.152 Match the events and movements given below

with the name of the persons associated with them

(a) Formation of Muslim League (i) Ali-Brothers
(b) Partition of Bengal (ii) I-ord Curzon

(c) iallianwala Bagh Massacre (iii) General Dyer

(d) Khilafat and non (iv) Agha Khan

co-opertion movement

Which is the conect matching
' l)a-(i), b-(ii), c-(iii), d-(iv)

- 2)a-(ii), b-(iii), c-(i), d-(iv)

3) a-(iv), b-(ii), c-(iii), d-(i)

4) a{iii), b-(iv), c-(i), d-(ii)

Q. I 53 ........... carried away the peacock throne of Shah

Jahan to Perssia.

(l) Mohamad Ghaznavi

(3) Nadir Shah

Timur

Balban

Q.154 Which Guru ordered Banda Bahadur to

Mughals at Nanded Sahib?

( l) Sri Guru Cobind Singh Ji

(2) Sri Guru Teg Bahadur Ji

(3) Sri Guru Hargobind Ji

(4) Sri Guru Arjan Dev Ji

{.r49 irfrrE F fi6}si pn dEfrr a€i ifurrr ?

(1) 15 ,,ftilEiI, 1947 a.
(2) 26T6<fr, leso fr.
( 3) 29 )F-drr, 1849 fr.
(4) 21 6d<fr, 1849 ei.

{.lso t6 H aes rr3 ry3 rfr k*su d te a? t

(A) 65r-orsrE sH fir6"Bu €-go-ETt53 utdt'
d Virr f+s firt alt ua' t

(B) fu€-dr{ i€& ffi tifeo rsre.o' @
6 xrars tr

(1) A ar6s a ud S Ffr ir
(2) Barsstudarfitl
(3) A}}ria?tEfru5't
(4) A 

"f3 
B At dF 3U5'l

V.r s 1 t6 fnfw,{' Eg kilJ. d[dtr (Era fr6 dS ilds ?

( l) dsx Erq - sqa=r
(2) sdqxrd- }rffid
(3) ,r{Ha - fr{r{'-gdfi
(4) tsd UREr-l - lrit=r sr f6tiethr6

{.152 t6 fitn{"{t u?6.€i }fii rir€E di'e'ffi rrs
6s f<ara-$art a.s rfr fa irc a? t

(r) UEfst{ frdr d rrrrs' (i)r,rdedr
(z) trdrr6fr€6r (iDwdE EitTrd

(3) rfu,f€E Et.i,I (iii)H6a5B'ftd
g {gBt,It}t

( 4) frrsgs ,rr3 r. iro (iv) r4r6n ,,t-
<c56.rfi#5
ku*rarfitr
l) a-(i), b-(ii), c-(iii), d{iv)
2) a-(ii), E(iii), c-(i), d-(iv)
3) a-(iv), b-(ii), c-(iii), d{i)
a) a-(iii), b-(iv), c-(i), d-(ii)

u.153 Frir fiirrd- sr ria tfr ffrufire u-dfrl,f'
....................tfar, r1
(1) Hfu=lredrtrf+
(3) Feit E|ir

l2).
(4)

(2\
(4)

3-,rd

II5Ir5

avenge u.1s4 fdE qE t E'€s E|tm far q-er w.sd 6 Edr6t
TEgg't-E tsr r6ror I'

(r) f,Wdffiefrur#
(2) f,U=alarru'e-sfr
(3) fru=dudfrffiEfr
(4) tard)rrdild,t<fr
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Q. 155 ..........was the founder of Ramgarhia Misl.
(l) Nawab Kapur Singh (2) Khushat Singh
(3) Jassa Singh (4) JaiSingh

Q.156 Which one of the natural Region is known as the
'Bread Basket' of the world?
(l) The Steppes Region
(2) 1'he Monsoon Region
(3) The Mediterranean Region
(4) 'Ihe F4uatorial Region

Q.157 Which of the following industrialtowns is located
on the Chhotanagpur Plateau?

{.r55 .......itrx ar$a,rr fl+rr U frrenr* rt r

(t) ?r<rs alliI frur l2,t grdrr, fiur
(3) *Er ffiur (4) +frn{

{.rs6 A6 fist g-sr* F'f€ f{E O frEd A's}s
qqiad Sr€ )i5 g ?d3t fd1 Hrer i?
(r) Eafrfrts
(2) ,{"55.d ts
(3) p{rdra&5
(4) g-fqE"dr&ts

{.r57t6fi sft rrrf rf€dfd-trs'9eafdrdxfraFar.ar-rra^
t ua-ai xks ti
(1) +6f lD d+51
(3) firdrd (4) 8-s{rdrn

{.r58 &fe1 srrs f€s rg i rfs.€Erd firs'* e'
Erqr fTusr t?
(l) 6'ffi (2)36rq
(3) F (4) fffiqrr,f aTd <r& Erqd

{.159 Yri'=I f€e ufr td s U'a: frrfrart rrnt
rEil iar sF6 i EEr ? ure use rurrr ?

(1) ffi
( 3) ii.s

(2) AEir
(4) e.gt.

tl.r6o fro*ilatt fu H uiai Ed fr fdr iTFe'a
gd?5i S il 6ar s4t |z
(l) gr6{t fu (2) Etrs+zrdi
(3) ,,ftrfr ffi (4) Eq+rerd ier-dr

{.f 61 TttEf er En 3 u?a €tr urgsr <.s' a'fi IATE A?

Q.158 The dominantrype ofinigation in peninsular India
is by:-
(l) Canals
(3) Wells

Q. 159 ln respect of which one of the following cmps,
the Green Revolution in india had limited impacp.

(l) Chennai
(3) Srinagar

( | ) Maize
(3) Rice

(2) Ranchi
(4) Sundernagar

(2) Tanks
(4) Sprinklers

(2) Wheat
(4) Pulses

(2) Mulberry
(4) Mango
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Q.160 The rocks, through which the water seeps very
fast, are called as:-
(l) Mushroom Rocks (2) Hard Rocks
(3) lgneous Rocks (4) permeablc Rocks

Q. 16 I Which state of india has the lowest density of
population?
(l) Arunachal Pradesh (2) Unar pradesh

(3) Punjab (4) Assam

Q.162 Stalactires, Stalagmites, pillars and Caves like
features found in the Limestone region are formed
by which of the following?
(l ) Whd (2) Snow
(3) Underground water(4) Animalsand birds

Q.163 'Active', 'Dormant' and .Extinct' arc the types
of
(l ) Mountains (2) plateaus
(3) Volcanoes (4) Cyclones

Q.164 Which of the following is the main Rabi crop of
Punjab?
( l) Rice (Z\ Maize
(3) Whear (4) Grcundrur

Q.155 On the leaves of which tree, the silk worrns are
rearedlfed?
(l) Neem
(3) Acacia

{.l62Eater?,*e,E}6-drretc,dt{,qrer<t<reilrra
ffi^trs f{ y5r {Td fgs'A ifr u.E se irr, uo "
firn{rF f"R f{E rru Ed T6.?

(1) 
"{ga'rgg 

YeE
(3) tirq

(l) ilr

(z) ggd{gE
(4) uEtx

(21 rFit

(2) rroir
(4) +{ds3

(3) gtfitos'u.el (4) r1gr,flfr;}

{.163 'fu1cr,{r*6', '{Erfir', 'gc 1-E, fq-E *,rfr
Eaxt rrt

(r) urEr
(3) ilEEUfr

{.164-t6 firfif,,ri fet rh's * futr
(r) fu Q)
(3) 6re6r (4)

g.res iax-i u1ftrr.6 fuE tC -
nFgr t ?

(1) E'tf Q)
(3) fri?o 14)

odcrrsfuof

H
@

ffsrrft 3 UrfE rfr

Eftr"fs
)irg



Q.166 Whichofthe following freedom is not available to {.166 tosdf-sgigilgr<tHtiltrS1-igfgrg.d-git
indian citizens?
( l) Freedom to criticize the govt
(2) Freedom to start a movement to

change the govemment
(3) Freedom to participate in armed

revolution against the state
(4) Freedom lo assemble peacefully and

without arms.

Q. 167 Who among the following is a part of political
. executive?

. ( l) District collector
' (2) f)irector generalofpolice

(3) Secretary ofthe ministry ofhome affairs
(4) Home minister

Q.158 Which of the following statements about the
judiciary is false?
(l) Judiciary can strike down a law if it goes

against the provisions ofthe constitution
(2) Every law passed by the parliament

requires appmval of the judiciary
(3) Judiciary is independent ofthe executive
(4) Any citizen can approach thejudicial

courts if his right is violated.

Q.169 Among the following which two subjects are

included in union lisE on which centre govemment

can make law
(l) Defence and Foreign Affairs
(2) Banking services and Police
(3) Marriage and divorce and Agriculture
(4) Post and Telegraph Departmenl ard

Education

Q.tzo tn which institution l/3 seats arc reserved for

- women?
(l) ln Lok sabha
(2) ln state legislative Assemblies

', (3) ln Rajya Sabha
(4) lnstitutions oflocal self govemment

Q. I 7l When and under whose leadership was Bahujan

Samaj Party (BSP) formed?
(l ) 19t2, Mayawati
(2) 1984, Kanshi Ram
(3) 19t5, Mulayam Singh Yadav
(4) 1986, Bhajan Lal

Q.l?2 Which among the following is not a part of indian

Preamble?
( l) Secularism (2) Soialist
(3) Sovereign, Democratic (4) Federalism

and Republic

6,Errf4liO 1l'lr3 rfi a?
(r) Hi,6rE +,,fB-gd,. 6rer S fisa-sr
(2) Eilf,d 6 Ee6e 6m 6fud sE -er d

Ei3-fJ'
( s ) arrT f<_iq ufur,,frdkE H'o a-os d figes.
(4) EExfr,r€fua ufuhf'di'eH'sd -df

Eigd-s'
1I.16? t6 ffifi{rr{i'fia€'*e aqstrq d,-oawfuar er

fiis. t i
(1) fB-sr){fqfifr/g}{ad
(2) ilBd?dffids,rrrgCBE
(3) {fotrsd8EtF*sd
(4) qrtdirs#

rI.168 t6 ffii f6?rr'rftfEd'r frtrd d{d'H'ktrE
dsd. drs=r a ?

( 1) lrr{hlk{r ffi + qE d6;, O ie
ild mr$ i i, fri<q.r r{Ein u a-fi t

(2) frFg g)rrrirr urE a.tJ uia Erfr5 5m
tc,lfu'FE dU-€'safr{f,d}

(3) f6)r{hrtBfl, a1ailJtfuar 
" 

E}5d a
(4) uia rrariea fr},flaI'fra' is r res

i trf,d @l{firy.d d 9sure' ffi m€ t

{.16e t6 fufo,il'. fE€'f i fiE* fur Ers e ryqtd",rt'gg 
o-d tf,F 3 dtfi res.o 6 +66' E6, 

-.+e
er lr{fo{B t?
(l) fdfv,err3ffiH+rt
(2) }Efr-€')rlyfuB
( 3) kt,f.J 3 SSra rrf} ffi
( 4) g-4 3-d f<gdI ?rr3 fr'fi{rr{.

{.170 faE frEs'f€s,iiTgi 5s t/3 fid artr$h{r
ffrrytr gifryi 65r
(l) &{Es'f€s
( 2) dEI f<Ilr6, rd.€r f+g
( 3) uE Fsr f+u
(4) Esr5d r€-n'ra'€hi ffi f+s

{.r71 Egr5 E}{rfi qrilet d rmra -€.,rf3 f{E
,rrdlqB',ffdrs?
( 1) 1982, )FtE,rfr€3t
(2) 1s84, a'fr ox
(3) 1e8s,Er'fur ffiu ut-e
(4) 19E6, 9fr6 6rg

u.r72 futrdi Eg fild.s' grd.$ r1Fs.s6' s frs' rfr i i
(r) qilHf5dtitfs (2) EHrir<Et
(3) !:{s.fr1r6-, ffi, (4) frur€re

in€ill;l
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(t)
(2)

(3)
(4)

Q. t73 Which among the following is the biggest and

strongesl obstacle in the way of National
lntegration ofindia.
Linguistic policy declared by the govemment
Financial crisis faced by the National lntegration
muncil
Formation of states on the basis of Language
l-ack ofstrong and sound National Conciousness.

Q. I 74 Which among the following is not a part of right
to information Act 2005.
( l) Ask any question from the govemment

or seek any information
(2) Inspect any govemment work
(3) To punish any government officialor

department
(4) Take samples of material of any

govemment work get them inspected

Q. I 75 ln the formation of govt. in which of the following
conditions the head of the state (President) can
have a real choice?
( l) When no single party has an absolute

majority in the legislature
(2) When a single party has absolute

majority
(3) When two or three parties are in the

race to form the govt.
(4) When a single party has an over

whelming majority

Q. I 76 Which of the following neighbouring country has

better performance in terms of human
development than india?
(l) Sri Lanka
(3) Nepal

(2) Bangladesh
(4) Pakistan

{.1?3 grn* a.Fe& ldtf,rd i a.u Es Ft g id
ra-€ffi4?

( r) -reE 
o <e rtnrs s'Ed 6tS

lD d'FaA ffifid€' trtdFe 5 ur d uz
(3) g'F. e Trfq-d 3 drf,t'€t E€a
(4) dmrr3 rsqs ou-afr €st-s' d tllz

u.174 ftr6r gr ,rffo6rrit ,ira-a zoos ,{*6 a6 fiSifrti" tEe'*r"rorOll
(1) rilf,dgdd<tVr6, FJFr€arfr '

irF6 6krF
(2) hi rr{-& lix d frrs rrsgrrg d?rt !

131 ffi rre-d ryfirc-& r F<+-at g rr.
g€'

(4) fui rea-fr &x trffi H,{6,{nE Tmi
Hrg a-d'ffi

V.l 7s Ei,Errd E?r _€E FErfr A6 ffi{,,ri f€t fer urys
f*s fu e' if rilFeotr*l anrefue* co rceir
( 1) +{d ffi u.dA $ + f<u-au'fra' f€y

yTd s!Df3 urE6 5i a+
( 2) rg fdE fE{ u-d-A 6 yas W}rs r{.,rs

i+
(3) 

"-6+ 
€.fs75,r-deh{,gilq,rd E6,g€ d

+rFeAE
( 4) tE fai fEd un-d g yee ryra 

"q.d iq fu Vnrs Ae

{.176 +6 fui{r{r H'fd-dii Er,l€ UFq m HEitfi
ftqrgtx.rt'f€s<fr,11rffirfii
(l) frtq.
(3) *q'5

(2) ffiE
(4) tI{qrsrd i

Q. 177 'Consumer Protection Act' was enacted in. {.u7 €.lf-drsr Eirtr€ rH.....s-dr i'fE"r frt .

Q.l 78 ln terms of GDP the share of tertiary sector on
2003 is........
( I ) between 20 to 300/0 (2) between 30 to 40Yo
(3) between 40 to slyo (4) between 50 to 60%

Q.l 79 ........ is authorised to issue currency in india
(l) Commercial Bank
(2) Reserve Bank of India
(3) NABARD
(4) Finance Companies

Q.lt0 Literacy rate in Punjab according to 2001 is.

tI.178 Fs 2oo3 fiET F{6 @; g3J.E f+s *i
uroe'frr'...... Eggat -
( l) 20 I 30% k€.rrd (2) 30 J 40% fqsETd
( 3) 40 i 50% f€sErrd (4) 50 ? 60% feiftrrd

rl.l79 srGr Es dirfr;trdt dA6 itr{qrra...a,6 tl
(1) <u-d{+d
(2) fTtrde +a >r{-e ffirr.
( 3 ) SrrltdEr
(+) fts iinrdar

t{.180 tif,q S EnfdJr eiI Er6 2001 t ur6r"o t r

(r) r9E2

(3) 1986

(r) r0
(3) 60

(2) 1984

(4) re88

(2) 70
(4) s0

(r) 1982

(3) t986

(1) E0

(3) 60

12) t984
( 4) l9E8

Q\ 70
(4) 50
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